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A number consists of two digits. The sum
of the digits is 10. On reversing the digits
of the number, the number decreases by 36.
What is the product of the two digits ?

(a) 21
(b) 24
©) 36
d) 42

Which one among the following is nof

correct ?

(a) Two congruent -triangles are
necessarily similar

(b) All'equiangular triangles are similar

(c) Two isosceles right triangles are similar

(d) All isosceles triangles are similar

ABCD is a rhombus with diagonals AC and
BD. Then which one among the following
is correct ?

(a) AC and BD bisect each other but not
necessarily perpendicular to each other

(b) AC and BD are perpendicular to each
other but.not. necessarily bisect each
other

(¢) AC and BD bisect each other and
perpendicular to each other

(d) AC and BD neither bisect each other
nor perpendicular to each other

The sum of a number and its reciprocal is
10/3 then the numbers are:

@ 3,173

(b) 3,-1/3
) =3,1/3
) -3,-1/3.

Latest Sarkari Jobs, Govt Exam Results,
% s Know More
Vacancies and updates on one click
Fi

Which one among the following statements
is correct ?

(a) Simple bar- diagrams are those
diagrams which show two
characteristics of the data

(b) In pie diagrams all the items are
converted into angles

(c) A bar diagram is one in which data are
shown in terms of bars

(d) Bar diagrams present data through
length and breadth

The following characteristics relate to the,
persons participating in athletic events : .
1. Height of the person

2. Colour of the eye of the person

3. Numberoftimes a person correctly hits
a target in ten attempts

Which of the following in respect of the
above is correct 7

(a) 1 is a continuous variable, 2 is not a
variable and 3 is a discrete variable

(b) 1isacontinuous variable, 2 and 3 are

discrete variables

(c¢) 1 and 3 are discrete variables ahd 2 is
not a variable

(d) 1,2 and 3 all are discrete variables

Consider the following:statements :

1. The data collected by the investigator
to be used by himself are called
primary data

2. The data obtained from government
agencies are called secondary data

Which of the above statements is/are
correct ?

(a) 1only

(b) 2only

{¢) .Both1and2
(d) Neither I nor2

(Contd.)
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Which one among the following statements
is not correct ?
(a) Forsize of readymade garments, mode

is the best suitable measure

For average rate of increase when the

(b)
rate of population growth is given,
geometric mean is best suitable

(c) For average rate of speed when

different distances are covered by

different rates of speed, harmonic mean

is best suitable
-“‘-—:‘?El“) For average level of inrt'élli'g?nce of
students in a class, arithmetic mean is
the best suitable

If the surface area of a sphere is 616 square
cm, what is its volume ?

(a) 4312/3 cubic cm
(b) 4102/3 cubic cm
{c) 1257 cubic cm
(d) 1023 cubic cm

. What are the dimensions (length, breadth
-and height respectively) of a cuboid with
volume 720 cubic cm; surface area 484
square cm and the area of the base 72 square
cm ?

(a) 9,8and 10 cm

(b) 12,6and 10 cm

(c) 18,4and 10 cm

(d 30,2and 12 cm

11.

12.

13.
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Consider the following statements :

1. Every composite number is a natural
number

2. Every whole number is a natural
number

Which of the statements given above is/are
correct ? '

(a) 1 only

(b) 2only

(¢) Both1and?2
(d) Neither 1 nor 2

Consider the*following statements :

If two straight lines intersect, then :

1. vertically opposite angles are equal.

2. vertically opposite angles are
supplementary.

3. adjacent angles are complementary.

Which of the statements given above is/are
correct ?

(a) 3only
1 only
(c) land3
(d) 2and3

A large solid metallic cylinder whose radius
and height are equal to each other i§'to be
melted and 48 idéntical solid balls are to be
recast from the liquid metal so formed. What
is the ratio of the radius of a ball to the radius
of the cylinder ?

(@ 1:16

® 1:12

(c) 1:8

d 1:4

(Contd.)
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14, The geometric mean of vitiates 32, 4, 8, X,

2 is 8. What is the value of vitiate X ?
(a) 2

(by 4

(c) 8

(d) 16

. Inthe triangle ABC, the base BC is trisected
at D and E. The line through D, parallel to
AB, meets AC at F and the line through E
parallel to AC meets AB at G. Let EG and
DF intersect at H. What is the ratio of the
sum of the arca of parallelogram AGHF and
the area of the triangle DHE to the area of
the triangle ABC ?

(a) 1/2

b)) 173
() 1/4
(dy 1/6

. Ifx—2isafactor of x* + kx? — 2x — 24 then

what is the value of k ?
(@) 6

(b) 5

(¢} 1

(d -2

. AB is a straight line. C is a point whose
distance from AB is 3 cm. What is the
number of points which are at a distance of
1 cm from AB and 5 ¢cm from C ?

(@ 1
(b) 2
(c) 3
(d) 4

. The angle of elevation of the tip of a tower

from a point on the ground is 45°. Moving
21 m directly towards the base of the tower,
the angle of elevation changes to 60°, What
is the height of the tower, to the nearest
meter ?

(a) 48 m

(b). 49m

(c) 50m

(d) 51m

. A circular ring with centre O is kept in the

vertical position by two weightless thin
strings TP and TQ attached to the ring at P
and Q. The line OT meets the ring at E
whereas a tangential string at E meets TP
and TQ at A and B respectively. If the radius
of the ring is 5 ¢cm and OT = 13 cm, then
what is the length of AB ?

(a) 10/3cm
(b) 20/3cm
{(c) 10cm

(d) 40/3 cm

b

. What is one of the square roots of

16x5—24x5 +25x4 - 203+ 10x* —4x + 1 ?
(a) 4x3-3x2+2x+1

(b) 4x*-3x2-2x-1

(c) 4x’-3x2+2x-1 §

(d) 4x*-3x2-2x+1

. "The cost of two articles are in the ratio 3 : 5.

If there is 30% loss on the first article.and
20% pgain on the second article, what is
overall percentage of loss or gain ?

(a) gain 2-25%

(b) loss 5-25%

(c) loss 2%

(d) None of the above

(Contd.)
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(a) 48m

(b) 49m
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(a) 10/3cm
(b) 20/3cm
(c) 10cm

(d) 40/3 cm

16x5 - 24x5 +25x* —20x* + 10x2 ~4x + 1 &
Tl # o w8 7

(a) 4x3-3x?+2x+1

(b) 4x*-3x*-2x-1

() 4x*-3x*+2x-1

(d) 4x*-3x*-2x+1

3 g & qey 305 g # §) AR wEh
g YT B 30% o @l awg 9 A 20%
B A By 1 AT H q SR 918 ?

(a) 225% @™

(b) 525% @i

(¢) 2% @i

(d) -SogF H A T T

(Contd.)
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22,

23.

24,

25.

26.

The number 58129745812974 is divisible
by

(@ 11

(b) 9

(c) 4

(d) None of the above

What is the HCF of 36(3x* + 5x* — 2x2),
9(6x* + 4x? — 2x), 54(27x* —x) ?

@ 9xx+1) )

(b) 9x(3x-1)

(c) 18x(3x-1)

(d) 18x(x+1) .

What is the length of the uniform wire of
diameter 0-4 cm that can be drawn from a
solid sphere of radius 9 cm ?

(a) 243 m
(b) 240m
(¢) 60-:75m
(d) 60m

What will be the cost to plaster the inner
surface of a well 14 m deep and 4 m in
diameter at the rate of Rs. 25 per square
meter ?

(a) Rs. 4000
(b) Rs. 4200
(¢) Rs.4400
(d) Rs. 5400

A wheel of radius 2-1 m of a vehicle makes
75 revolutions in one minute. What is the
speed of the vehicle ?

(a) 78 kmph

(b) 59-4 kmph
(c) 37-4 kmph
(d) 35-4 kmph

8

27. If a positive integer leaves rémainder 28

28.

29.

30.

when divided by 143, then what is the
remainder obtained on dividing the same
number by 13 ? N

(@ 0
) 2
() 9
@) 10

What is the compound interest on Rs. 1600
at 25% per annum for 2 years compounded
annually ?

(a) Rs. 700

(b) Rs. 750

{c) Rs..800

(d) Rs. 900

The graphs of ax + by = ¢, dx + ey = f will
be
1. parallel if the system has no solution

2. coincident if the system has finite
number of solutions

3. intersecting if the system has only one
solution

Which of the above statements are
correct ?

(a) 1and2only
(b) 2and 3 only
(¢) 1and3only
{(d 1,2and3

The medians of a triangle ABC; intersect at
G Which one of the following is correct ?

FE ol Y \.

(@) Five times the area of triangle AGB is

equal to four times the area of triangle
ABC.
Four times the area of triangle AGB is
equal to three times the area of triangle
ABC.

Three times the area of triangle AGB
is equal to the area of triangle ABC

®)

(©)
None of the above

(d)

(Contd.)
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22,

23.

24.

25.

26.

e 58129745812974 vy freq 877
(@) 11

(b) 9

(c) 4

(d) Swgw # ¥ A =t

36(3x* + 5x3 — 2x2), 9(6x° + 4x2 - 2x),
54(27x* — x) 1 HETAH GATIEIS T 8 ?
(@) 9x(x+1)

() 9x(3x-1)

() 18x(3x-1)

d 18x(x+1)

9 0 Brow at 3 W A diT F I 04
A0 @ T I aRX BT A g ?
(a) 243 m

(b) 240m

(c) 60-75m

(d 60m

14 # 78T AT 4 W =W T R g F
Al Y5 9T Rs, 25 Wi @ Aex M X §
AR ST B ed F41 BT 7

(@) Rs. 4000

(b) Rs. 4200

(¢) Rs. 4400

(d) Rs. 5400

N St = 2-1 & B 9 s uigar w@

e ® 75 99w Tl & | 99 WS B 9w
7

(a) 78 kmph

(b) 59-4 kmph -

(¢) 374 kmph

(d) 354 kmph

9

27.

28,

29.

30,

i} TRl & quies T 143 & o0 T3 9 9N
28 5@ 8, |t 3T g @ 13 ¥ 9w 3=
g7 99 FIAT 7

(a) 0

) 2

() 9

(d 10

Rs. 1600 T 25% afties gT § yiaad gaife
F U2 9N & fol wwgfE s AR 7
(@) Rs. 700

() Rs. 750

(c) Rs. 800

(d) Rs. 900

ax+by=c,dx +tey=f 3 &

1. Tarx e ot Prem P g TS

2. Huh g ok Frem & s @ g@mn
uRET ?

3. voeRa # oR Fom w1 Fa9 @

7 8
S FuAT X B T E 7
(a) #ad 13R 2
(b) &ad 23R 3

() Pad 1T 3

(d 1,233

el Py ABC &t wford G 9R wRkisRw
FE eI PR A AT w w8 ?

(2) P AGB ' vt &1 i 10, g
ABC & &A% & IR 1 & a{EK 8

(b) Pt AGB & &=t T 91X AT, Brgw
ABC & &% & o I & S0@ 8

(©) Prga AGB & &t F1 & T, B
ABC & 87% & §UET 8

(d) SwH= # § o8 T

(Contd.)
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31

32.

33.

34.

What is:the mean proportional between
(15++/200) and (27 ~/648) ?

(@) 4

®) 1447

() 345

@ 53

A stock of food is enough for 240 men for

48 days. How long will the same stock last
for 160 men ?

(a) 54 days
(b) 60 days
(c) 64 days
(d) 72 days

3 2 9 4
+ N

If

X+y

then what is - 5 — equal to?
@) 32

M 5

© 2/3

@ 1/5

The locus of the mid points of all equal
chords in a circle is :

(@) the circumference of the circle
concentric with the given circle and
having radius equal to the length of the
chords

the circumference of the circle
concentric: with the given circle and
having radius equal to the distance of
the chords from the centre

the circumference of* the circle
concentric with the given circle and
having radius equal to half of the radius
of the given circle

the -circumference of the circle
concentric with the given circle and
having radius equal to half of the
distance of the chords from the centre

(b)

(c)

(d)

10

4]

33.

36.

37.

38.

If the outer and inner diameters of a stone
parapet around a well are 112 cm and
70 cm respectively, then what is the area of
the parapet ?

(a)
(b)
(c)
@

264 square cm
3003 square cm
6006 square cm
24024 square cm

What is 0-007 1783 +310-0202 equal to ?
(a)
(b)
(c)
(@

32786638
327-86638
327-86683
3278668

A man loses 20% of his money. After
spending 25% of the remainder, he has
Rs. 480 left. What is the amount of money
he originally had ?

(a) Rs. 600

(b) Rs. 720

(¢) Rs. 800

(d) Rs. 840

Assuming that profit of a shopkeeper in a
particular commodity isa linear expression
of transportation charge (t) and thig'quantity
of commodity (q). He earns a proﬁt of

Rs. 10,000 by selling 20 units at the transport

charge of Rs. 400. He also earns a profit of

'Rs: 12,000 by selling 25 units at the transport

charge of Rs. 600. What is the linear
expressionintand q ?

(a) 600q -5t
(b) 500q -4t
(c) 600q—4t
(d) 500q -5t

(Contd.)
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31.

p—

32.

33.

34,

(15 ++/200) T (27 — /648 ) FI HATTA

FaT e ?
(2) 4
(b) 1447
© 35
@) 543
240 IcfEl & o v gl &1 @8 wiw
48 Rt & fordy vat | a8t TTF 160 TR
& o e BT o = ?

(@) 54
(b) 60R
(c) 64T
(d) 72R=
P

X+y X-y
@f%ﬁﬂ%‘ﬂi?ﬂ%?
(@ 312
() 5
(c) 2/3
@ 1/5
Rt g9 A o sueT et & g
=7 ferguy
(@) R¥ 3w ga & g g N AR 8,

=2 IR

RY 30 W # A 30 A RE L,
Rt Browr fawtt &t F% 4 g &
UG 8

R gC g9 B W ga @ R 8,
Rrgeh Bror Ry gy 9o ) Brem A
e B

RY gu g9 & dFar IO W uRfYy §
Rt Brsn ofael & 37 § g A
e @ |

(b)

(©)

(d)
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35.

36..

37.

38.

et 2 & AT SR 9ok & 9 R A I
w e @ wAe 112 39 @ 70 6
B, T YST N GAthel M E ?

(a) 26437

(b) 3003 = T

(c) 6006 &+

(d) 24024 =t T

0007 +17-83 +310-0202 Fa® axm@x & ?
()
(b)

32786638

327-86638

(€) 32786683

(d) 3278668

NS SR AT HRT T 20% W& B 1A

A T 25% TF F D AW IED T
T 480 99 ST 21 EW: Igd g FhaAl

HeTafer o ?

(a) Rs. 600

(b) Rs.720
(c) Rs.800

(d) Rs. 840

75 AT ge B R gETer o us ey
o & T, gONs Ao (f) T A A i
(Q) F7 X€T ot | 20 TR 99 FL AR
T 400 g @9 F 98 T 10,000 FT A
ATl T &1 25 TR 99 B AT F. 600
TR @ HT 8 T 12,000 Fom ARl
8| LA q & W s #1418 P
(a) 600q— 5t

(b) 500q - 4t

(c) 600q—4t

(d) 500q - 5t

(Contd.)
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39. Ifx:y=7:5,thenwhatis(5x—2y): 3x+2y)

40.

41.

42,

equal to 7'
(@) 5/4
(b) 6/5
(c) 25/31
(d) 31/42

The sum of two numbers is 232 and
their HCF is 29. What is the number of such
pairs of numbers satisfying the above
condition ?

(a) One B

(b) Two

(c) Four

(d) Noné of the above

A person bought 8 quintal of rice for certain
rupees. After a week, he sold 3 quintal of
rice at 10% profit, 3 quintal of rice with
netther profit nor loss and 2 quintal at 5%
loss. In this transaction, what is the profit ?

(a) 10%
b) 20%
©) 25%
(d) None of the above

What is the angle of elevation of the sun
when the shadow of a pole is +/3 times the
lenigth of the pole ?

(@) 30°

(b) 45°

) 60°

(d) None of the above

43,

44,

45.

X4 + X3 + %y + x2} + ¥ + y2 is divisible
by :

(@) (x+y)only

b) (x*+y +2z%) only

(¢) both (x +y)and (x3 +y*+z%)

(d) None of the above

‘A’ can do a piece of work in ‘x’ days and
‘B’ can do the same work in 3x days. To
finish the work together they take 12 days.
What is ‘x’ equal to ?

(a) 8

() 10

(c) 12

d) 16

ABCD is a rectangle. Let E be a point on

‘AB and F a point on CD such that DE is

parallel to BF. If AE = 3 cm and if the area
of triangle BFC = 6 square cm.

Consider the following statements :

1. Areaofrectangle ABCD can be of the
form pq? square cm where p, q are
distinct primes.

2. Areaofthe figure EBFDs of the form
r? square cm where r is rational but not
an integer.

Which of the above statements is/are
correct ?

(a) 1only

(b) 2 only

(¢) Bothland2
(d) Neither 1 nor 2

(Contd.)
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39. T x:y=7:5@ (5x—2y): (3x +2y)

40.

41.

42.

frgeh aET 8 7
(a) 5/4

() 6/5

) 25/31

(d) 31/42

Q gerstt w1 A 232 & qON AR WEWH
TEds 29 ¥ SHE Wkerd ® Hgse
aﬂ%-gq_@'ﬂw—g@fﬁmw%?

(a) @& s,

(b)

(¢) IR

(d) SwF ¥ & FS AW

=i 3 o T § 8 Fdes = 'dart

F gE 9%, 399 3 & wEw 10% |
R, 3 Reee aEa famr Bl o af W
A2 feea5% it ox 99 g 1 39 oFeT

F A g 7

(a) 10%
() 20%
() 25%,
(d) ST H & e T

7R Bl @e o orT SER AR F 43
AT B A G F I B0 R 7

(@ 30°

(b) 45°

© 60°

(@) SwgF F ¥ g TE
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43,

44.

45.

_x4+xy3+_x3y+xz3+y41-yz3 ELCRERIS!
27

(@) FaT (x+Y)

(b) F (x*+y +72))

() A (x+y)T (x*+y +2)

(@) o= & § % T

‘A Rl w0 R F w] @A
B’ 3w B 3x,RAT H FT w31 A
e #X 99 FW B 12 R § qu FWE
‘x' fFad SUE 8 7

(@ 8

(b) 10

() 12

d 16

ABCD T W™ 2 | #i divl & AB W

w fig E @1 CD R & Rig F 30 918

% DE,BF & a@iak 8 | 4 AE=3cm &R

st BFC &7 & =6 1 om ¥ |

ﬁwﬁ%ﬁmwﬁmaﬁﬁﬁ

1. ¥&d ABCD &1 87%d pq’ @ cm &
1 &7 8 GhaT & 9@ p, q R
I B

2. EBFD &1 &A%t 1 91 cm & &N
13, oet B r a2 feg qovies TET

I AT ¥ FA-a/ w8 e/E 7

(a) Faa |

(b) ®aa 2

(€) 132

(@ TR IARAD2
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46.

47,

48.

49.

A cardboard sheet in the form of a circular
sector of radius 30 cm and central angle 144°
is folded to make a cone. What is the radius
of the cone ?

(a 12cm
(b) 18cm
(c) 21 cm
(d) None of the above

Two transversals S and T cut a set of distinct
parallel lines. S cuts the parallel lines in
points A, B, C-and D and T cuts the parallel
lines in points E, F, G,*H’respectively. If
AB =4, CD =3 and EF = 12, then what is
length of GH ?

@ 4
(b) 6
() 8
d 9

If the area of a circle is equal to the area of
a square with side 2}/; units, what is the
diameter of the circle ?

(a) 1 unit

(b) 2 units

(¢) 4units

(d) 8 units

what is

If x+~1-=a_,._ then

X

1 1
x3 +x? +—+—5 equalto ?
X° X

(a) a’+a?

(b) a’+a*-3a

(c) a8+a’-3a-2
(d) a*+a’-4a-2

Latest Sarkari Jobs, Govt Exam Results
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50. From the top of a cliff 200 m high,

St

'

the angles of depression of the top and
bottom of a tower are observed to be 30°
and 45° respectively. What is the height of
the tower ?

(a) 400 m
(b) 4003 m

(€) 400//3m
(d) None of the above.

If x4 5x? + 10k leaves remainder —2x
when divided by x? + 2, then what is the
value of k ?

(@ -2
(®) -1
(c) 1
(d) 2

. If one of the roots of quadratic equation

7x%*—-50x + k=0is 7, then what is the value
ofk ?

(@ 7
() 1
) 50/7 )
) 7/50 '

. Ifax=b, b"=¢ and xyz = 1, then what is ¢?

equal to ?
(@ a
(b) b
(c) ab
(d) ab

(Contd.)




46. 30 cm fsur @@ 144° AT FW & g

47.

48.

49,

fem wvE 3 =Y e FEEe B 9w W A

H TH F I W6 B I9 vig A P

T E?

(a) 12cm

(b) 18cm

(c) 21cm

(@) Sw ¥ ¥ F T

=1 aeiar tewll & w=aw #1 Q) e S

I T Fred &1 v Y@ ;S Regat

A,B,C @ D T 3T R7gell E, F, G H
T AT Fed &1 3R AB=4,CD=33R
EF=12 8, @ GH & = «umr 8 ?

(@ 4

(b) 6

) 8

@ 9

e B % & S, 24/n. T o A

Tt F A B T B, T I I T AW

FTTE?

(@ 1 T

(b) 2 THR

© 4 =1

(d) .8 =3

of¥ x-+l~=a, qa B exl el

X X3 X2

fros agar 8 ?
(a)
(b)
(c)
(d)

a’ + a?
a’+a’->5a
a’+a?-3a-2

a+al~4a-2
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50. 200 m 3 € AEEH F AN Y IEdH

51

52.

53.

15

FE R B ¥R & Be v aa #1 sgee
FOT FHE: 30° AT 45° WK B 1 =W
TR & I Fwr 2 ?

(&) 400m
(b) 40043 m

(€) 400/43m
(@) S9gF & ¥ B

‘FRIXI+ 5x2 + 10k B x2+ 2 97 TN 91X

U —2x o, Q k AT w7 E?
(a) -2
®) -1
) 1
(@ 2

7fe o e 72— 50x + k=0 F @t
AwqA 78 Mk FT AT Y ?

(a) 7

® 1

(c) 50/7

(d) 7/50

TR a*=b,=c IR xyz=1, 7@ ¢* D
qUa e 7

(@ a

(®) b

(c) ab

(d) alb

(Contd.)




T el

54.

55

36.

Let ABCD be a-parallelogram, Let m, n be
positive integers such that n < m < 2n.
Let AC = 2mn and BD = m? — n?. Let

AB = (m? + n?)/2.

Statement-I : AC>BD
Statement-II : ABCD is a rhombus.

Which one of" the following is correct in
respect of the above statements ?

(a) Both statement-I and statement-II are
true and statement-Il is the correct
explanation of statement-I

(b) Both statement-I and statement-II are
true but statement-II is not the correct
explanation of statement-I

(c) Statement-I is true, but statement-1I is
false

(d) Statement-II is true, but statement-I is
false

A square, a circle and an equilateral triangle
have same perimeter.

Consider the following statements :

1. The area of square is greater than the
area of the triangle.

2, The area of circle is less than the area
of triangle.

Which of the statements is/are correct ?

(2) 1 only

(b) 2 only

(c) Both1land2

(d) Neither 1 nor 2

The expression sin’x + cos’x -1 =0 is
satisfied by how many values of x ?

(a) Only one value of x

(b) Two values of x

(¢) Infinite values of x
(d) No value of x

57.

58.

59.
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The area of a rectangle whose length is 5
more than twice its width is 75 square units.
What is the perimeter of the rectangle ?

(a) 40 units
(b) 30 units
(c). 24 units
(d) 20 units

JTwo numbers are in the ratio 2 : 3. If 9 is
added to each .number, they will be in the
ratio 3 : 4. What is the product of the two
numbers ?

(@ 360
(b) 480

(c) 486
@ 512

Consider the following statements in respect

of an equilateral triangle ABC.

1. There is a point P inside the triangle
ABC such that each of its sides
subtends an angle of 120° at P.

2. There is a point P inside tl'{:a I'_riangle
ABC such that the triangle PBC is
obtuse angled and A is the orthocenter
of triangle PBC.

Which of the above statements is/are
correct 7

(a) 1only

(b) 2only

(c) Both1and?2
(d) Neither 1 nor 2

(Contd.)
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54.

35.

56.

T R & ABCD #1§ @R g
2| A AR B m, n g7 ol 39 W §
fF n<m<2ni 99 AR & AC=2mn

@ BD=m!-n?l WA d@A &
AB =(m?+n?/2 1

Fy-]1 ; AC>BD

FY-11 : ABCD T9=gHd ¢ |

IPE Fal & wed § Pl § SE-a
T R 7

(@) T FA-1 qu FoA-I T § AR
Fu-11, HYF-1 N TE A B |

(b) B FYA-I TE FUA-I 94 & foheq
FuA-1I, F97-1 ) T e 7@ 8 |

(c) wYA-1 &g 2, freg Foe-11 e B |

(d) Fu-Il 7 2, g o1 ST 2 1

fandt o, gt % gHaTg P & oRewg §A
g1
el Foe W FEr ik -

1. @t & e Be & @ § s
21

2., I & AT B AT A B |
I FuT § A BT/ B T B/E 7
(a) dad 1

(b) #a2

(c) 13T 2 3T

(d FT1AMTALT2

x & a3 wAl % g e

sin?x +cos?x— 1 =0 H< B & ?

(a) x F1 Fad T AT
(b) x® A qAA
() x & A AR
(d) x ¥ PR AT T
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57. Tt s o, Rt s, dE S A

58.

59.
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5 AF B, HAFA 75 T THR 8 1 IF IS
T g = 8 ?

(a) 40%FE

(b) 30TE

(c) 24

(d) 20

A ey 2:3 B I F B | o wed we
H oS fowm T 3:4 P s R A
Wﬁlﬁm@mww%?
(a) 360

(b) 480

(c) 486

(d) 512

waeTg Brgs ABC 3 @ 3 Prefafe s

9T = =iy

1. Po[M ABC & siwfa #1% Rg P =@
TR § T @ g% e P 9T 120°
T BT FART F 2 |

2. B ABC & sigid 1 ey P 8
v & 5 Brys PBC afdm-#nim &
IR A favei PBC &1 #fa F7% B |

Suda Fl B ¥ A w6 8/8 7

(a) Bad 1

(b) Fad 2

(c) 13 23A

(d) FT1IIT2
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60. What is the value of
71-001 x 1001x 1001 +0999x 0:999% 0999
1001x 1-001— 1001 % 0-999 + 0999 0:999
(@ 1
(b) 2
(e) 3
(d) 4

61. If p(x)is a common multiple of degree 6 of

the polynomials f(x) = x* + x* —x— 1 and
g(x) = x> — x? + x'— | then which one of the
following is correct:? g

(@) p(x)=@E-1PE+1PE+1)

(b) p(x)=(x-1)(x+1)x>+1y

() px)=x-1yPx+HE+1)

(d) px)=x-17x+1)

62. If the roots of the equation x? — 2ax +:a’+a
— 3 =0 are real and less than 3, then:-which
one of the following is correct ?

(@ a<2
(b) 2<a<3
(c) 3<a<4
(d a>4

63. Two students A and B solve an equation of
the form x2 + px + q = 0. A starts with a
wrong value of p and obtains the roots as
2 and 6. B starts with a wrong value of g
and gets the roots as 2-and —9. What are the
correct roots of the equation ?

(a) 3and-4
(b) -3and-4
(¢) —3and4
(d) 3and 4
18
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64.

65.

66,

Consider the following :

1. sin?l°+cos?l=1

2. sec?33°-cot?57° = cosec? 37°—tan? 53°
Which of the above statements is/are
correct 7

(a) 1only

(b) 2only

(c) Bothland2

(d) Neither 1 nor 2

pr=_q‘sin)g+bcosxandq=acosx-bsinx,
then what is p? + ¢* equal to ?
(a) a+b

(b) ab

(c) a? +b?
(d) a*-b?

Statement-I : Let the side DE of a triangle
DEF be divided at S so that

DS _ —1— If a line through
DE 42
S parallel to EF meets DF at
T, then the area of triangle
DEF is twice the area of the
triangle DST.-
Statement-I1: The areas of the similar
triangles are proportional to
the squares on the
corresponding sides.
Which one of the following is correct in
respect of the above statements ?

(a) Both statement-I and statement-II are
true and statement-II is the correct
explanation of statement-1

(b) Both statement-I and statement-II are
true but statement-II is nof the correct
explanation of statement-I

(c) Statement-I is true, but statement-II is
false

(d) Statement-II is true, but statement-I is
false

(Contd.)

Know More




1:001x 1001 x 1001+ 0999 x 0999 x 0999  64.

1:001x 1-001 —1-001 x 0999 + 0-999 x 0-999

FAT FWE ?

| @ 1

(by 2

© 3

d) 4

6. TR TR fx)=x*+x2-x-1 3R
gx)=x'-x2+x—1 9 6 U % Iwafrs 65.
T p(x) 81, & Frefiee § @ f-ar @

' qEr g 7 3

(@) p(x)y=(x-1Y(x+1pP(x*+1)

() p(x)=(x—1)(x+1) (x2+ 1)

(€) pE)=E-1Y¥x+1)(x*+1)

@ px)=@x-12x+1) 66.

60.

62. Hﬁﬂﬁmx2~2ax+az+a—’-3=0$"iﬂ
IrafeT 3R 3 ¥ w9 8 O PR & §
-9 TF wE 7
(@) a<2
(b) 2<a<3
) 3<a<4
d a>4 '

L tfy
L2

63. x2+px+q=0%wa1ﬁﬂ'nﬁwa?ri‘r
faardf, A R B, s F@ & p A T
W A AR 2 A6 T wrd B F
q T IS TR AT AT T B A2 AR -9
T B & | I ol B wdl g i § 7
(@ 334
(b) -33I-4
() -334
(d) 334
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1. sin?1°+cos?1 =1

2. sec?33°—cot*57°= cosec? 37°— tan?53°
ST W ¥ Py w2

(a) Pad 1

(b) Faw 2

() JIAT 1 I 2

(@ T@A1MTE2

IR p=asinx+bcosx T q=acosx~bsinx
B, @ p?+ g fed o 2 ?

(a) a+b

(b) ab

(c) a’+b?

(d) a?-1b?

FF-1 ;WA AR By DEF
fS1 DE & S T 30 ¥
faaie fem wmar 2 f&

DS
E—-TlﬂﬁEF%W

S 4 7oA &t @I, DF &
T WX facrft 8, & B DEF
w1 @awa e DST &

&2l T Q1 AT & |
Tl :  OaEY Pl 1 e 99
UrEEl 9% 3 @At & gErah
gl
I T B e ¥ PR # & A

T TR 7

(a) 3 FoE-I qU FYA-1I T F oqr
FUA-11, F9-1 1 qE) g &

(b) I FUA T FAAU Wy § g
FO-11, Fu=-1 o) T e 78F 2 |

(c) -1 ¥ 8, g FoA-11 3y 81

(d) #9-11 97 8, fog Fu=-1 3ed &)

(Contd.)
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67.

68.

69.

70.

What is the value of k that (2x'— 1) may be
afactorof 4x* — (k - )x* +kx®? - 6x+ 1 ?
{a) 8

® 9

(¢) 12

(d 13

If 196x* = x5, then x? is equal to which one
of the following ?

(a) x%14

(by 14x*

(c) x¥14

(d) 14x2

The sides of a parallelogram are 12 cm
and 8 cm long and one of the diagonals is
10 c¢m long. If d is the length of other
diagonal, then which one of the following
is correct ?

{a) d<8cm

(b)) 8cm<d<10cm

(¢} 10ecm<d<l12cm

(d d>12cm

The base of a triangular wall is 7 times its
height. If the cost of painting the wall at
Rs. 350 per 100 square meter is Rs. 1225,
then what is the base length ?

(@ 50m

(b) 70m

() 75m

(d) 100m

For the next THO (02) questions that follow :

The-areas of the ends of a frustum ‘of a pyramid
are P and Q where P < Q and H is its thickness.

71.

72.

73.

74.
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What is the difference in radii of the ends of
the frustum ?

/347
@

— /P
w BT

© JQ-+P

(d) None of the above

What is the volume of the frustum ?
(@ 3HP+Q++PQ)

® HP+Q+PQ)

(€) HP+Q+4PQ)/3

(d) HP+Q-4PQ)/3

What number should be added to 231228 to
make it exactly divisible by 33 ?

(@ 1
(b) 2
(c) 3
(d) 4
Let AB be a line segment such that a point P

on the locus satisfies AB? — AP? — BP? = 0.
What is the locus ? '

(a) the straight line AB itself
(b) the perpendicular bisector of AB
(c) astraight line parallel to AB

(d) acircle

(Contd.)




67. k& Bo & o -

68.

69.

70.

4x! — (k — )x® + kx? = 6x + 1 &1 @S
2x—1 B wHW 8 7

(a) 8

®) 9

(c) 12

(@ 13

R 196x% = x¢, a9 x> Frefaiea § ¥ @@
T ® SO 8 7

@ x/14

(b) 14x* >

(¢) x¥14

(d) 14x?

faedy T TS A S 12 cm T 8 om
et ¥ o et ¥ ¥ 10 cm T B L
TR qak Fat 1 g d B A P #
AR 7

(a) d<8cm

(b) 8ecm<d<10cm

(¢©) 10cm<d<12cm

@ d>12cm

7 TR 1 TR T 350 TR 100 THET B T
3§ 39 a1 AR HOA T Ed €. 1225,
) T P TS T 7

(@ 50m

(b) 70m

(¢) 75m

(d 100m
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ST I ATy 8 (02) v w o
) frafE & fos @ SR & &oRel P AT Q
F et i P < Q o s WIeiE H 2

71.

72.

73.

74.

H N | B |

S % O % Prourd & AT Fn B ?

JQ-+P
NP

G-fF

(@)

(b)
© JQ-+P

(d) Sww # § H A
fos1e T WA AT 8 7
(@ 3H(P+Q++PQ)
(®) H(P+Q+PQ)

(c) HEP+Q+4PQ)/3
@ HEP+Q-yPQ)/3

231228 ¥ AT W dEw W5 FX I 33 ¥

Ty g S S 7

(@ 1

(b) 2

© 3

(d) 4

71 R B AB 1 YeT wvs IWAHR 2 &
frgm 7 Mg P, AB2 - AP?—BP2 =0 H
e Fa 3 | fegoy e ?

(2) @ T Wl AB

(b) AB FT THaTHS

(c) AB & WX HIE ¥ @l

(d) I

(Contd.)
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76.

77.

78.

79.

If 2x + 3y.€ 6,x 2 0, y2 0, then one of the
solutions is :

(@ x=-2andy=3

(b) x=landy=2

{(c) x=landy=1

(d x=-landy=-1

The curved surface area of aright circular

cone of radius 14 ¢m is 440 square cm, What
is the slant height of the cone ?

(a) 10cm
(b) 1lcm
(c) 12cm
(d) 13cm

If the ‘volume of a cube is 729 cubic cm,

what is the length of its diagonal ?
(@ 9v2cem

() 9v3cm
{(c) 18cm

(d)’ 1843 cm

The altitude of an equilateral triangle is

3 c¢m. What is its perimeter ?
(@ 3cm

® 33cm
(c) 6cm

(d) 6v3cm

The area of a rectangle whose one side is
‘a’ is 2a%. What is the area of a square
having one of the diagonals of the rectangle
as side ?
(a) 2a?
(b) 3a’
(c) 4a’
(d) 5a?

Latest Sarkari Jobs, Govt Exam Results

80.

81.

82.

83.
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The total surface area of a cube is 150 square
cm. What is its volume ?

(a) 64 cubic cm
(b) 81 cubiccm
(¢) 125 cubiccm
(d) 160 cubiccm

The HCF and LCM of two natural numbers
are 12 and 72 respectively. What is the
difference between the two numbers if one
of the numbers is 24 ?

(@) 12
(b) 18
(c) 21
(d)y 24

A person sold an article for Rs. 136 and got
15% loss. Had he sold it for Rs. x, he would
have got a profit of 15%. Which one of the
following is correct ?

(a) 190 <x <200
(b) 180<x <190
() 170<x<180
(d) 160<x<170

Consider the following statements :

1. The angular measure iniradian of a
circular arc of fixed length subtending
at its centre decreases if the radius of
the arc increases.

2. 1800°is equal to 5= radian.
Which of the statements is/are correct ?
(a) 1only

(b) 2only

(c) Both1and?2

(d) Neither 1 nor 2

(Contd.)-
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75.

76.

71.

78.

79.

A 2%+ 3y.<6,x20,y20, T EA X T TH
RIS

(a) x=-23Ty=3

(b) x=1dy=2

(c) x=13y=1

(d) x=-138y=-1

14 cm Trean AW, TEEENT Vi B THYD B

BT 440 1 em ¥ | I v F R FAE
g ?

@ 10cm
(b) 1l cm
() 12cm
(d) 13 cm

aR Bl T wT e 729 ¥ om B, @
g% el & T Fm e 7

@ 9v2.cm

(b) 93 cm

(¢) 18cm

(d) 18/3cm

flY TwaTg Pt A S J3 cm &1 T
afa T @ ?

(a) 3cm

® 3/3em

() 6emy o

@ 63 cm

Tl -, =, e TF 5 a B, @A 227

2| 3@ amE & et o fawel 1 e o
X gh 9 T e e 7

(@) 2a’

(b) 3a’

(c) 4a

(d) 52
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80.

81.

82.

83..

il i i o

ol o7 TR AT ST 150 T om B
T A Y 7

(a) 649 cm
(b) 81 ¥ cm
() 12599 cm
(d) 16097 cm

3 g iRt #1 HCF X LCM o 12

RN RSTER AT 24D
3T T T A TR 7

(a) 12

(b 18

(c) 21

(d) 24

Py g 1 v =R T, 136 ¥ S & S
SR 15% H e ST E I AR 9 W ' x
F ¥ @ IY 15% T A B | Freforte
¥y A T a8 ?

(@) 190 <x <200
(b) 180<x <1190
(¢) 170<x<180
(d) 160<x<170

Prifei Foet o RER FR

1. Ffeaa ooams & g = H, W IR
1) Fafa g A Ffg 7 wedt &
ofe =y &) FBear ggd 2 |

2. 1800° wOET ¥ 5n T F

P /A FUA T B/E T

(a) Fad 1

(b) FaA 2

(c) 13T 2

@d A1 IARAE2
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85.

86.

87.

There are two taps A and B to fill up a water
tank. The tank can bé filled in 40 minutes if
both taps are on. The same tank can be filled
in 60 minutes if tap A alone is on. How much
time will tap B alone take to fill up the same
tank ?

(a) 64 minutes

(b) 80 minutes

(c) 96 minutes

(d) 120 minutes

The pair of numbers which are rélatively
prime to each other is :

(a) (68, 85)
(b) (65,91)
(c) (92,85)
(d) (102, 153)

How many rational numbers are there
between 1 and 1000 ?

(a) 998
(b) 999
(c) 1000
(d) Infinite

The sum of two numbers is 20 and their
product is 75. What is the sum of their
reciprocals ?

(@) 1/15

(b) 1/5

() 4/15
) 7/15
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88.

39.

90.

91.

The ratio of two complementary angles is
1 : 5. What is the difference between the
two angles ?

(a) 60°

(b) 90°

(c) 120°

(d) can not be determined with the given
data

What is the logarithm of 0-0001 with respect

to base 10 ?

(@ 4

(b) 3

(© -4

d -3

Consider the following statements :

1. There is only one value of x in the
first that satisfies
sin X + cos x =2.

quadrant

2. There is only one value of x in the
first that satisfies
sinx —cos x =0,

quadrant

Which of the above is/are correct 7
@
(b) 2only

(c) Both1and?2 o
(d) Neither 1 nor2

1 only

If x lies in the first quadrant and
cos x = 5/13, what is tan x — cot x equal to ?

@) -139/60
(b) 139/60
) 119/60

(d) None of the above

(Contd.)

-



84,

85.

86.

87.

TR R AN IRAAIRBA
I &1 R DY 7o weny W @ Ta 40
firre ¥ W o1 TR £ AR B A A
<o |1 981 €@ 60 BT H R wadt § | 1]
Had T B IR SN Y I T Y A A
e e

(a) 64 AT

(b) 80TTT

(c) 96T

(d) 120 A

TF qEY B GRER: 3T Fe-grw w1 § 7
(a) (68,85)

(b) (65,91)

(©) (92, 85)

(d) (102, 153)

1 % 1000 % o v aRA @ B 7
(a) 998
(b) 999
(¢) 1000
(d) sFq

Q FeRl 1 AT 20 B TN STH TOTHRA 75
¥ ST R AT TR ]

(@ 115

) 1/5

(c) 415

@ 7/15
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38.

89.

90.

91.

31 IF R FT I 1:5 B 1 I QA DA

AT FIATRTES ?

(@ 60°
(b) 90°
(c) 120°
@) R g st ¥ Frafa =8 o s

AT 10 % @dEr 0-0001 T TV F1 8 7
(a) 4
(b) 3
© ~4
(d) -3

Prefafee wot o< Ra PR

1. wom wgeie ¥ x & Hae O WA @ S0
sin x + cos x = 2 I TP B B )

2. wuw =gute ¥ x F daw T AH B W
sin x — cos X = 0 FT G F & |

S § & FA-T/F w82 7

(a) ®aa 1

(by a3 2

(c) qMi1 3R 2

(d FW1MAE2

iy x o ageter § & U cosx =5/13, @
tan x — cot x fFa® AT 8 ¢

(a) —139/60

®), 139/60

(©) 119/60

(d) Sugwa ¥ § A TE

(Contd.)




92. 94,

D ; C
E
) D
A B ’

In the quadrilateral ABCD shown above,

£DAB = £ZDCX = 120°. If ZABC-="105°, .

what is ZADC equal to ? C B

(a) 45°

(b) 60° In the figure given above ZABC =
) 75° ZAED =90°,

d) 95° Consider the following statements =

1. ABC and ADE are similar triangles.

2. The four points B, C, E and D may lie
on a circle.

93.

Which of the above statements 'is/are
correct 7

(a) 1 only

(b) 2only

(c) Bothland2
(d) Neither 1 nor2

In the figure given above AO = CD where 95. If3**Y=81 and 81*-Y = 3, then what is x

O is the centre of the circle. What is ZAPB equal to 7
equal to ? (a) 17/16
(a) 60° (b) 17/8
(b) 50° (c) 17/4
(c) 45° (d) 15/4
(d) 30°
' 26 (Contd.)
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92.

93.

A B

s weRfa Tqd ABCD ¥, ZDAB =
/DCX = 120°1 IR ZABC = 105° &, &
ZADC Trad auET g 7

(@) 45°
(b) 60°
(c) 75°
(d)y 95°
C D
P

I & T Ak § A0 =CD, W O 3§
I %1 3% B 1 LAPB fred a@ @ 7
(@) 60°

(b) 50°

(c) 45°

(d) 30°
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94,

B

g & T sl ¥ ZABC =

ZAED = 90° |

1. ABC X ADE 7&d s &1

2. 9% &g B,C,E ¥R D fRl 30 W
oo &1 ¥ ¥\

I FoAT A Pr-a/Q w6 /T 7

(a) Fae 1

(b) Fad 2

(c) a1 3R 2

(d T/1ATTE2

95. TR 3x*y=8] AT §1*-¥=3 B, T x e
FEL B 7

(@) 17/16 .
(b)
(©
(d)

17/8
17/4
15/4




96.

97.

98.

Consider the following : '

cot30°+1
cot30°-1
2. 2sin45°cos 45°—tan 45°cot 45°=0

Which of the above identities is/are

=2 (cos30°+1)

correct 7

(a) | only

(b) 2 only

(¢) Bothland2
(d) Neither ! nor 2

If 3 sin x + 5 cos x = 5, then what is the
value of (3 cos x — 5 sinx) ?

(@ 0
(b) 2
(c) 3
@ 5

How many numbers between—11 and 11 are
multiples of 2 or 3 ?

(a) 11
(b) 14
(¢) 15
(d) None of the above

99.

If A= {x : x is an even natural number},
B = {x : x is a natural number and multiple
of 5} and

C = {x : x is a natural number and multiple
of 10},

then what is A (B u C) equal to ?

(@ {10,20,30, ...}

() {5,10,15,20, . . .}

(c) {2,4,6, ...}
(d) {20,40,60, .. .}

100. If a set A'contains 60 elements and another

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

set B contains 70 elements and there are 50
elements in common, then how many
elements does A B contain ?

(a) 130
(b 100
(c) 80
@ 70

(Contd.)




96.

97.

98.

frefofer o fa=me i - 1 99, AR A={x:x IT T @ T ¥},
C0t30°+1_2(cos300+1) B={XX${QWWWSQ%W%}@_{
cot30°—-1 C={x:x 1% & qiF AR 10 N o 8},
@ An (B uC)frad awee @ 7

2. 2sin45° cos 45° —tan 45° cot 45°=0

Iudaa wdaftpRl § A-a/d w8 8/E ? (a) {10,20,30, ...}
(a) *9 1 ® {5,10,15,20, . ..}
(b) a2 © {2,4,6, ...}

(c) J=f 132 (d) {20,40,60, . ..}

(d FT1ITE2 .

100. 72 Tg=m A ¥ 60 s@wa g X qE W=
B ¥ 70 355 g qui S50 Iaua IS g,
TWAUB A B a7

o 3 sin x + 5 cos x = 5 &, @
(3 cos x ~ 5 sin x) F T T8 7

(@ ©

by 2

() 3

@ 5

(a) 130
(b) 100
(c) 80
(d) 70

~11 @ 11 & = B g 2 a0 3 H
T 8 ?

(@) 11

(b) 14

) 15

(d) vodw ¥ ¥ Fg 7

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click






https://www.facebook.com/prepp.in.exams/
https://www.instagram.com/prepp_in/
https://twitter.com/prepp_in
https://in.pinterest.com/prepp_in/
https://www.youtube.com/channel/UC5lbyL9e2Nxqev5_kWtZCwg
https://t.me/Govt_Jobs_PREPP
https://prepp.in/
https://prepp.in/government-jobs-2021-news

